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A BEIER ERS25EH  A:0.55/55/30s/3min 12:AC12V
CRHE R, FERF135#:,  B:1s/10s/60s/6min
BEEN 1554 C:5s/50s/5min/30min 380:AC380V
o7 e FE A D:10s/100s/10min/60min 12D:DC12V
KB FF 2 Bt E:60s/10min/60min/6h
V-E= it F-2min/20min/2h/12h ZENDHEEAEDY
R:{EEREE A G:4min/40min/4h/24h
1S:0.1s~1s
2S:0.2s~2s

60M:6min~60min
6S60S:0.5s-6s/60s
10S10M:1s-10s/10min

10M100M:60s-10min/100min

JE: JSZIAZERT A8 R FF0.5s/58/30s/3min, 1s/10s/60s/6min. 5s/50s/5min/30min

10s/100s/10min/60min. 60s/10min/60min/6h. 2min/20min/2h/12h. 4min/40min/4h/24h
b= R RERISZ3-27= &

JSZ3C RS AT 8] R A F0.58/5s/30s/3min, 1s/10s/60s/6min, 5s/50s/5min/30min
10s/100s/10min/60min. 60s/10min/60min/6h. 2min/20min/2h/12h. 4min/40min/4h/24h
b= R RERISZ3-37 &

JSZ3FZERTAT 8] R FF0.1s-1s. 0.2s-2s, 0.3s-3s. 0.5s-5s. 0.5s-6s. 1s-10s

2s-20s. 2. 5s-30s. 5s-60s. 10s-100s. 10s-120s. 10s-180s. 0.4min-4min. 0.5min-5min
0.5min-6min. 1min-10min. 2min-20min, 2.5min-30min

(& R A% o] & i, 5 K ZE B #1145 500s~5000s)

JSZ3KFERTRTE] R AF0.1s-1s. 0.2s-2s. 0.3s-3s. 0.5s-5s. 0.5s-6s. 1s-10s

2s-20s. 2. 5s-30s. 5s-60s. 10s-100s. 10s-120s. 10s-180s. 0.4min-4min. 0.5min-5min
0.5min-6min. 1min-10min. 2min-20min, 2.5min-30min. 5min-60min

JSZ3Y RST8] R AF0.1s-1s. 0.2s-2s. 0.3s-3s. 0.5s-5s. 1s-10s. 2. 5s-30s. 5s-60s. 0s-120s
10s-180s. 0.5min-5min. 1min-10min

JSZ3RE RS A 8] R A F0.55-65/60s. 1s-10s/10min, 2.5s-30s/30min, 1s-10s/100s
2.5s-30s/5min. 60S-10min/100min
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BRARSH
AC-15 Ue V | 380 (AC) 240 (AC) 120 (AC)
le A | 095 15 3
DC-13 Ue V| 250 (DC) 125 (DC)
le A | 027 0.55
AE KRBT Al5
ERRE <5%
A x| z21%x10°
BREw K| 21x10°
M W | <3
HERHEREE V| 12~380 (AC)
V | 12~220 (DC)
S| IEC 60947-5-1
Ex ik GB/T 14048.5
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